Lattice 2 by 2

Name:

Use lattice multiplication to solve each problem.

b 49 x 37 =

2)

5)

8)

11)

77 %x34=

82x14=

31x95=

58 x50 =

3)

6)

9)

12)

84 x 63 =

Answers

10.

11

12.
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Lattice 2 by 2 Name: Answer Key
Use lattice multiplication to solve each problem. Answers
1) _ 2) _ 3) _
49 x 37 = 77 % 34= 84 x 63 = 1 1,813
4 9 7 7 8 4
2 2 2 7
1 3 2//, 3 4 ,/,, 6 2 2,618
1 2 7 2 / o 1 , 1 5 8 o 4
2 6 A2 2 2 1 3, 5,292
gl 3|’ 8| 8" al 2|’
8 6 |. i 2 L 4 3,936
1 3 1 ,7 8 9 2
5. 1,148
4) _ 5) _ 6) _
48 x 82 = 82x14= 97 x52= 6 5,044
4 8 8 2 9 7
3.71°. s 0. 1°%. 7 4138 s ||7. 2958
3 2 4 1|7 8 , 2 5 5.7 9
0 1 3 700 1 1 8. 2,945
8 6|° 72 s |” s| 4|’
9 1.7 0
: - 9. 2,090
3 6 4 .7 8 4 4
0. 3,360
7) 8) 9)
51 x 58 = 31x95= 55 x 38 =
1. 2,900
5 1 3 1 5 5
2 0 5 2/, 0 9 1 1 3 || 12 1,008
5 5 5 o |7 9 5 5.7 9
4 0 11 o 4 4
8 5 8
9 0 8 9|~ 5 5 0 0 ,," 0
5 8 4 .5 9 0
10) 40 x 84 = 11) 58 x 50 = 12) 18 x 56 =
4 0 5 8 1 8
0 4 4 7
3 .18 2 ok 0 PAE
3 2 2 |11 5 1 Sl
1 0 0o .70 0 4 .7
4 0 S8
3 6 0 9|~ O 0 0 6 ’," 8
6 0 0., 0 0 8
1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
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